B AYKEIOY AATEBPA

209 1)
2 -2 -3 3|2
Xynpo Horner : -4 12 -18 Apa : H(X)=2X2—6X+9 Ko U(X)=—15
2 6 9 -15
209 2
2 -7 4 93
Yynuo Horner : 6 -3 3‘
2 11 -6 |
Apa : (2x3—7x2+4x—9):(2x2—x+1)(x—3)—6
209 3
3 8 -2 5|2
YyAuo Horner : -6 -4 12‘
3 2 6 17|
Apo : 3x°+8x* —2x+5=(3x" +2x—6)(x +2)+17
209 4
2 -4 -2 4|4
YyAuo Horner : -2 6 —4‘
2 6 40 |
Apa. : 2x3—4x2—2x+4:(2x2—6x+4)(x+1)
209 5)
2 3 -1 5 4011
Xynuo Horner : 2 5 4 —J.‘
254 13 |
Apa i 2x*+3x° —X* —5x +4 =(2x* +5x” +4x ~1)(x 1) +3
209 6)

3 -2 5 -4 -22
Yynua Horner : 6 8 6 4‘

3 4 3 2 2
Apa : 3x*—2x°=5x* —4x -2 =(3x° +4x* +3x+2)(Xx - 2)+2

209 )
20 3 2 1]=2
Yynuo Horner : 4 -8 10 —24‘
2 4 -5 12 —23\
Apa i —2x*+3x% + 2x +1=(-2x° +4x* ~5x +12) - 23

209 8)
1 3 0 0 -2-4
Yyquo Horner : -4 4 -16 64‘
1 -1 4 -16 62‘




Apa : x“+3x3—2:(x3—x2+4x—16)+62

209 9)
1 0 0 0 11
Xymua Horner : -1 1 -1 1‘
1 11 -1 2
Apo : x*+1=(x*=x?+x-1)(x+1)+2
209 10)
1 —4a 3> 50° |20

Ty Horner : 20 —4o° —2d°

1 —20 —a? 3(13‘

Apa : X —4ax® +3a’x +50° = <X2 —2ax—a2)+3a3

209 11)
1 o -0 —a’-a
Zyquo Horner : - 0 o
1 0 -a® 0
Apo. : X3+0LX2—(12X—(13=(X2—u2)(x—a)
209 12)
3 8 -6 16 1/
Zyfuo Horner : V2 -8J2+6 -16 0

3 8+3V2 -8J2 0 1‘
Apa : (3X4 —8x3—6x2+16x+1):(3x3+(3\/§—8)x2—8\/§x)<x—\/§)+1



